D = default number or 1's of the class

N = number of 1's
H = number of 0's
B = borrowing bits (bits of subnetting)

N+H = 32
N = D+B
h = number of 0's inside octet of interest

number of created subnets = 2 ^ B
increment = 2^h

range or size of each subnet = 2 ^ H

D = default number or 1's of the class

N = number of 1's
H = number of 0's
B = borrowing bits (bits of subnetting)

N+H = 32
N = D+B
h = number of 0's inside octet of interest

number of created subnets = 2 ^ B
increment = 2^h

range or size of each subnet = 2 ^ H


1. Which IP host address range is allowable given an IP address of 172.31.2.56 and 12 bits of subnetting?

172.31.2.48 to 172.31.2.63
172.31.2.48 to 172.31.2.62
172.31.2.49 to 172.31.2.62
172.31.2.49 to 172.31.2.63
172.31.2.55 to 172.31.2.126

2. Which network mask should you place on a Class C address to accommodate a user requirement of two subnetworks with a maximum of 35 hosts on each networks
255 255 255 192
255 255 255 224
255 255 255 240
255 255 255 248

3. How many valid host IP addresses are available on the following network/subnetwork?172.21.10.151/30


A. 2

B. 30

C. 254

D. 16,382

E. 65,534

4. Which network mask should you place on a Class C address to accommodate a user requirement for five networks with a maximum of 17 hosts on each networks
255 255 255 192
255 255 255 224
255 255 255 240
255 255 255 248

5. What is the maximum number of subnets that can be assigned to networks when using the address 172.16.0.0 with a subnet mask of 255.255.240.0? 
16
32
30
14
It is an invalid subnet mask for the Network.

6. Given an IP host address of 172.16.2.160 and a subnet mask of 255.255.255.192 to which subnet does the host belong?
172.16.2. 32
172.16.2.64
172.16.2.96
172.16.2.128
172.16.2.192

7. How many total hosts are possible with a Class C address and a subnet mask of 255.255.255.224?
4
30
60
62
124

8. You have a Class C network address of 192.168.88.0 and you need the largest possible number of subnets, with up to 12 hosts per subnet. Which subnet mask should you assign? 

255.255.255.192 

255.255.255.224 

255.255.255.240 

255.255.255.248

9. What is the correct broadcast address for the host 172.16.64.128 using a netmask of 255.255.192.0? 

172.16.128.255

172.16.127.255 

172.16.64.0 

172.16.0.128

10. You have a network ID of 192.168.55.0 and you need to divide it into multiple subnets. You need 25 host IDs for each subnet, with the largest amount of subnets available. Which subnet mask should you assign? 

255.255.255.192 

255.255.255.224 

255.255.255.240 

255.255.255.248 

11. You have a network ID of 172.16.0.0 and you need to divide it into multiple subnets. You need 600 host IDs for each subnet. Which subnet mask should you assign that will allow for growth? 

255.255.244.0 

255.255.240.0 

255.255.248.0 

255.255.252.0 


